N = 0l & At & M A

20198 = E0la AT AIESEEAH SH

2N Mot
Hu: 5EMO PR MEtAT SEWM
G U222 ZSAL (AT AMNIBEEHIH ) (AT AIHESES| H) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Ao 1} 16,609,236 10,534, 161 6,075,075
= 5,552,000
& 462,000
= 10,595,236
SEXHQ A2 Aot £=EINA 16,609,236 10,534, 161 6,075,075
g 5,552,000
o= 462,000
= 10,595,236
U2 ZSAMY (AT AIHELES A ) (AT AIHEE 16,026,236 9,935,361 6,090,875
31 AH)
Fag 5,552,000
& 462,000
= 10,012,236
M SEBA 534,580 433,860 100,720
206 M = Hl 131,700 131,700 0
01 X2 H| 131,700 131,700 0
OHEI ¢ 120, 000& 6704 80,400
OdN&EE HE)| BEsE ¢ 90,000 *570H 51,300
401 AIEHIZL 201 Y| 402,880 302, 160 100,720
01 Al&H| 400,000 300,000 100,000
Oldx=EZ2=Z2A 400,000,000 1A 400,000
03 Al 20| 2,880 2,160 720
OMdx=EZ=Z2A 400,000,000%0.72% 2,880
UMAMLT T A SEAY 1,136,300 754,725 381,575
401 Al HI L E0HHI 1,136,300 754,725 381,575
01 Al&H| 1,130,000 750,000 380,000
OYAUMLE Z47Y HHAY 1,000,000
OYa 2 ZEOIBANE 445 HTAY
130,000,000 130,000
03 AlE 21| 6,300 4,725 1,575
OYAUMLE T4 ALY
1,000,000,000%0.63% 6,300
S22 HMIAE 1,537,620 1,758,600 A 220,980
201 LBt ]| 7,000 7,000 0
01 AP 22| H| 7,000 7,000 0
OOIS+EA U 2227 A2FA S|
3,500,000 =14l 3,500
O &Ag=E32 150,000 7 x23| 2,100
Oax=E A3 100,000& x7H *23| 1,400
206 M = dl 20,000 20,000 0
01 =4l 20,000 20,000 0
O HIAXMH 2 20,000,000 x 14! 20,000
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M Aot
Hm: SEMQ BRR MSAT SEM
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
401 Al HIZ 201 Y| 1,510,620 1,712,600 A 201,980
01 A& HI 1,500,000 1,700,000 A 200,000
OM2cE =27 9 Al s
500,000,000& » 14 500,000
O&=& ZAIMO &Hl 2=
200,000,000 =14 200,000
Oz =53 AtY 100,000, 000& 14! 100,000
O=22 WHAEY 400,000,000& » 14 400,000
OL=AEIN & E55 WHAY
100,000, 000& «1& 100,000
Oa==& A8 =HEH2 AY
100,000, 000& =1 100,000
Oz &==& F=&A 100,000,000& 1 100,000
03 A& =2 THHI 10,620 12,600 A 1,980
ON4+E2 DiesT L AEE RI2
3,600,000 x 14 3,600
Oa= 2 EE5AY 900,000& x 1 900
OL:22 WHAY 2,880,000& » 14 2,880
Ok= HEI & E55 WHMAEY
900,000& » 1 900
Oti=Xl & =S Al =HEHC ALY
900,000& » 14 900
O&==& ZAIHMAH &8 = 1,440,000& x14 1,440
F=F getag] 976,966 771,418 205,548
101 @124l 4,000 4,000 0
04 JI2ZtHZ22HEE = 4,000 4,000 0
Ox=EA& M= 82 4,000,000& x 14 4,000
201 £B-2dH| 627,966 507,418 120,548
01 At 22l 16,450 16,450 0
Oget=gH| 8,950
—ZgH EH ¥ 500,000& = 14 500
—ZFH Sz 150,000& = 11CH 1,650
—ANRA 2g 2,500,000% *2J4 & 5,000
—g&a #3237 2 450,000 1 204 & 900
—d20 2= 450,000 » 1E #20H & 900
Oul=l 5,000
— 22N (HY=F)
150,000& = 10H =« 23| 3,000
- EELPIET-EY
100,000& = 10H =« 23l 2,000
O= &l 2,500
—dZEA2EN 250,000& =108 =14 2,500
02 =224l 611,516 490,968 120,548
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M Aot
M SEH0 HZZ Aot =EIMA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES)
SA - ZE-B(EN) - NRAY - B S il &t o il
O3 & HA 467,516
— =M AE IS (2MHA)
400,000,000x 14 400,000
~H4Y S SN BRIFIN 248 X3
12,000, 000& 14 12,000
— &% HaH4 5,000,000& » 14 5,000
—2AASI| BEAMN +22
5,000,000& » 14 5,000
- NSk SFUH 4,000,000& x 14 4,000
— XAsX Sl 2,000,000& x1H 2,000
— &It =2 9,000,000 » 14 9,000
— A gotM 3| 80,000& 14 80
— 38 s SHUAMEIA 23
500,000& 14 500
—HaE/HEX PG HLLE
22,000,000& 14 22,000
—H>TAYALE tEFZ 3,300,000 14 3,300
—NHE3HE ME =25 4,000,000& 14 4,000
—AdgsA=E 53,000& *12& 636
OAIZ &S Xlbl 144,000
— 9 DEXMHeSE RA22 EH
15,000, 000& 14 15,000
—2EAE FY Y HIFY
22,000,000 14 22,000
—oOiD Y A T PEHe
11,000, 000& 14 11,000
— =AM AIHEFHIIE AE XM
7,000,000 x 14 7,000
—FHE+L X ZAI&H | XI22/(CCTV)
15,000, 0002 14! 15,000
—d=& =X HIILH RX2e
10,000, 0002 14! 10,000
—H2T 2EASI| R (2Hr)
20,000,000 » 14 20,000
— o0y DEXMUSE SEAE
12,000, 000& 14 12,000
— &2 =X RSHAH SR 2L
20,000,000 x 14 20,000
—QEAEYOOH A28 AH
6,000,000 14 6,000
—AEAT SNSEI AREDA
6,000,000 » 14 6,000
202 oddl 5,000 5,000
01 = LH o4 1l 5,000 5,000
OFF+E 29 2 HFX A8
3,000,000 » 14 3,000
Oa==3 =& ZAl 2,000,000& x 14 2,000
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M Aot
M SEH0 HZZ Aot =EIMA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (&)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
206 M= Hl 18,000 18,000 0
01 =8l 18,000 18,000 0
O==IA & A=I 5,000,000 » 14 5,000
OHIATTH 7Y (+SHD S)
10,000, 000& » 14 10,000
OXsSHH |A LA2E 2L (ZH0 S)
3,000,000 » 14 3,000
401 Al B2 28I 322,000 237,000 85,000
01 A& HI 322,000 237,000 85,000
Ogad=d =48 sA2c HA
200,000,000& » 14 200,000
OZdF=Z ==&H Mo
100,000, 000& =1 100,000
O&=% H&= &8l B+ 22,000,000 14 22,000
=% s=Z 2 1,780,758 439,358 1,341,400
201 2et24d] 125,858 117,358 8,500
01 At 2teltl 63,858 55,358 8,500
O=ZZA 58,078
— =2t A 35,000 #523= 24 A& 3,640
—EZEIAM 960,000& »12& 11,520
— I EZA 3,200,000& »43| 12,800
— g5 =2FAM 3,300,000& =33l 9,900
—oles 2FANES FHAN
537,000& *43] 2,148
—HJISEE8s=2 190,000 32| 570
— oI, AMES 2HLLE
7,000, 000& »23| =14 14,000
—JIEHZ R A SOIRK S)2HL42
3,500,000 » 14 3,500
o=zg=¢ 980
—szze A ALY
70,0003 7 2314 980
O+t 4,800
X2 EZEEON 2EST L2
4,500,000& %13 4,500
— =AY BOIHE S UM
300,000& » 14 300
02 3322l 62,000 62,000 0
OA& &8l Xl 62,000
—E2T FA(HA/H)
5,000, 000% *43| 14 20,000
— =X H2A(28/4)
15,000,000& #2353 x1& 30,000
— =EANE dEsS=2AHSI 22
12,000,000& =14 12,000

- 668 -




M Aot
M SEH0 HZZ Aot =EIMA
te: AH2E SSAMG (AT MSSEIH ) (A4S ALESESIA) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
206 M=l 108,900 101,000 7,900
01 =8l 108,900 101,000 7,900
O3l 65,400
— MBI ST QASOIR SHAI
10,000 x30F +23] x 1A 6,600
—d2>HAM(SEH) 260,000 x80E+1 20,800
—ASAE(NYLMUES) 22
230,000& *100E+ 14 23,000
—UHBALE SISANEE ABRL(7TS
15,000, 000& =1 15,000
OB =4l 43,500
—=E2A=I ABE 2& 9,500,000 14 9,500
— YW Y YMHLT SEHEID 7Y
20,000,000 = 1CH 20,000
— MaY, dEA 42E 7
2,500,000& x13l 2,500
— MEaA4E &3 7Y 1,000, 000& =14 1,000
— dIIME ¥ 2¢s | MM
2,500,000 » 14 2,500
— =SAE tdFR 7 2,000,000 14 2,000
— =T Z2HAL ¢ 6,000,000 » 14 6,000
401 Al HI 2 28I 1,546,000 213,000 1,333,000
01 A& HI 1,546,000 213,000 1,333,000
O ==Xl HEMsS=E2AHSI| X (XA A,
&, 50 50,000,000 «37H 2~ 150,000
O &Ael =Xl MEA =L &dl &X
33,000,000 *20H 2~ 66,000
O SaF==F L2AMAHALH EXAY
1,300,000, 000& 14 1,300,000
O 3% =ZAH=I &X 30,000
— Ya 0D B4 SN &X
15,000, 0002 14! 15,000
— YFAI Y+ FRYLH DA
15,000, 000& * 14! 15,000
aaE AIZ2E 2 46,012 37,100 8,912
201 L2l 35,612 32,100 3,512
01 At 22l 18,500 17,100 1,400
Odz=E10XAN £ gy &3 &€ EY
5,000,000 » 14 5,000
Odz=E10XAN EHE ZEH =l
500,000 *43| 2,000
O AIEZ XSOIH =22
7,000,000 » 14 7,000
Oa=& &8 S ML 1,500,000 14 1,500
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2N
X ZH -
L= B

el

Ao St
sEXQ 2R o4
o2 BIMY(YLE

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
Od%coz 928 28 79
3,000,000 » 14 3,000
02 22| 17,112 15,000 2,112
O3 das T2 R
15,000, 000& =1 15,000
O44+5R3 SEHINE 2E 7Y
330& x6,4000H 2,112
405 XHoHF S HI 10,400 5,000 5,400
01 At EZFH S 10,400 5,000 5,400
Oz&E 3 PARY 1,300, 000*7 CH 9,100
OLXNAM &8 =gl ¢ 1,300,000 = 1CH 1,300
Sstd 22| 830,000 830,000 0
201 Let24d] 800,000 800,000 0
02 =24l 800,000 800,000 0
o= A=U23 800,000,000 » 14 800,000
308 AXIEHHSOIA 30,000 30,000 0
07 IXNHHARE = 30,000 30,000 0
Osstg 2el 2E3 30,000,000 14 30,000
NgasE 22AY 96,000 92,000 4,000
307 21201 A 96,000 92,000 4,000
05 RIZt2E = 96,000 92,000 4,000
Oa=x 2E /A 8,000,000& x12& 96,000
0l Bl 8l 200,000 200,000 0
801 GilHI 8l 200,000 200,000 0
01 €eHoildl gl 200,000 200,000 0
Ououldl sl 200,000, 000 200,000
o Yk 296,000 207,300 88,700
101 @14 Hl 8,000 0 8,000
04 JIZHHZ2XNHEE S 8,000 0 8,000
O=EAME HxE 2ARU(HE,I2)
4,000,000& 23| * 14| 8,000
201 Let249] 208,000 177,300 30,700
01 At 224l 13,000 8,000 5,000
OMRES(ZHH Z2H) A2
3,000,000& » 14 3,000
OEE22 M8, 24 24S)
5,000,000& =14 5,000
Oa==& QIAXMel 2285 7¢
5,000,000& =14 5,000
02 =24l 195,000 169, 300 25,700
O&dt=S & 3l 1,500,000& 13l 1,500
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2N Mot
Hu: 5EMO PR MEtAT SEWM
G U222 ZSAL (AT AMNIBEEHIH ) (AT AIHESES| H) (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNsx S5 3,000,000 *3CH* 1 9,000
OXsS X S| 1,500,000 3 1A 4,500
ONx=TAIE BotdEe2 30,000,000& x1 30,000
Otlz=X, & dMIIe2 80,000,000& =14 80,000
Otil=X, I SAe2 70,000,000& =14 70,000
405 XHAHFEHI 80,000 30,000 50,000
01 XAt 2 Z F S| 80,000 30,000 50,000
O KA 25 7
10,000,000 = 1Al 10,000
O&=& HA&AZS=XE 2 70,000,000 *14] 70,000
SOEMBELNL (FEXNT) 1,786,000 2,000,000 A 214,000
Fag 1,250,000
= 536,000
401 Al HI L £ 0HHI 1,786,000 2,000,000 A 214,000
g 1,250,000
= 536,000
01 Al& H| 1,779,570 1,994,000 A214,430
ORAXT SOHEMSS AN
1,779,570,000& 1,779,570
hag 1,250,000
= 529,570
03 A2 HH] 6,430 6,000 430
OBTXT SOEMEHBLHY
1,786,000,000& 0. 36% 6,430
SHEMESSIHL(22=XR) 1,071,000 813,000 258,000
Fag 750,000
= 321,000
401 Al HI L £ 0HHI 1,071,000 813,000 258,000
Fag 750,000
= 321,000
01 Al& H| 1,067,144 807,900 259,244
O3 sHENMESSINY
1,067,144 ,000& 1,067,144
hag 750,000
= 317,144
03 Al& 20| 3,856 5,100 AN 1,244
O sHENMESSINY
1,071,000,000& *0.36% 3,856
SHEMESSIHS(ZE=RR) 1,110,000 827,000 283,000
= 777,000
= 333,000
401 Al HI L £ 0HHI 1,110,000 827,000 283,000
g 777,000
o 333,000
01 Al& B 1,106,004 821,900 284,104
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